No. 5640

Forest department Himachal Pradesh

Dated 22/08/19

From : D.F.O. Suket.

Director, To:

Technical Education

Vocational & Industrial training,

H.P, Sundernagar, Distt. Mandi, H.P.

Subject:

Deposit of Compensatory levies after the grant of stage-I (In principle)' Approval in respect of proposal for the diversion diversion of 0.6885 ha, of forest land for the construction of Govt. ITI Dehar, with the jurisdiction of Suket Forest Division, Sundernagar under Forest Conservation Act, 1980.

Sir.

The 'In -principle' approval cited as subject has been accorded by Govt. of HP vide letter No. Ft.48-3469/2016 (FCA) dated 2.08.2017 (Copy enclosed for ready reference). Brief

Detail of Proposal	
Distt./Forest Division to which the proposal relates	Mandi/ Suket Forest Division.
Name of User Agency	Director, Technical Education Vocational & Industrial training, H.P., Sundernagar, Distt. Mandi, H.P.
Name of Proposal	Diversion of 0.6885 ha. of forest land for the construction of Govt. ITI Dehar, with the jurisdiction of Suket Forest Division, Sundernagar
Extent of forest area to be diverted	0.6885 hac
Whether new or for additional land for renewal/extension.	New
Date of first stage clearance	2.08.2017.
	Distt./Forest Division to which the proposal relates Name of User Agency Name of Proposal Extent of forest area to be diverted Whether new or for additional land for renewal/extension.

2. The amount of compensatory levies in respect of the proposal mentioned above may be deposited in the following manner:-

i	Amount required to be deposited in Adhoc-CAMPA Account being maintained by Govt. of India		
*(a)	Cost of Compensatory afforstation (Excluding 17.5% Departmental Charges)	Rs. 96967/-	
*(b)	Cost of Additional C.A(Excluding 17.5% Departmental Charges)	Rs	
*(c)	Cost of Penal Compensatory afforstation (Excluding 17.5% Departmental Charges)	Rs	
*(d)	Cost of Catchment Area Treatment Plan	Rs	
*(e)	Cost of Wild Life Management Plan	Rs	
*(f)	Net Present Value (NPV)	Rs. 452345/-	
*(g)	Cost of Implementing the scheme for safety Zone Area in respect of mining cases	Rs	
*(h)	Cost of implementing phased Reclamation plan of mining area	Rs	
*(i)	Other charges, if any (*Specify) 1) Recclamation Plan	Rs	
	Total 2 (I):	Rs. 5,49,312/-	
II			
*(a)	Departmental Charges on C.A @ 17.5% of cost of CA.	Rs.16969/-	
*(b)	Departmental Charges on Penal C.A @ 17.5% of cost of Penal CA.	Rs	
*(c)	Cost of Trees (***)	Rs.175672/-	
	Total 2 (II) :	Rs. 192641/-	
ш	Amount required to be deposited as		
	GST @ 18% on cost of trees	Rs.31621/-	
	Total 2 (III):	Rs.31621/-	

The compensatory levies mentioned above may be deposited strictly in accordance with the following guidelines:-

FOR AMOUNT (s) MENTIONED AT 2 (I) TO BE DEPOSITED IN ADHOC-(A) CAMPA ACCOUNT THROUGH ONLINE PORTAL.

GOI has developed an e-payment module of forest clearance portal for online remittance of Compensatory levies. Therefore, you are requested to deposit Cost of CA & NPV amounting to Rs. 5,49,312/- through e-payment portal such as online challan mode through the RTGS and NEFT/off line challan mode in ADHOC CAMPA account (only in Corporation Bank, Lodhi Complex Branch, New Delhi (IFC Code Corp 0000371 and Saving Account No. SB01025210) in the account of CAF Himachal Pradesh).and payment through any other mode

In any type of clarification/assistance, O/O undersigned may be contacted.

- (B) FOR AMOUNT MENTIONED AT 2 (II) TO BE DEPOSITED IN STATE GOVT. TREASURY :-
 - Amounts due towards Departmental Charges on CA Rs. 16969/- & Cost of 23Nos. trees Rs. 175672/- Total Rs. 192641/- may be deposited in this office through cheque/DD in Favour of Division Forest Officer, Forest Division, Suket payable at Sundernagar or may be deposited in State Govt. treasury.
- (C) FOR AMOUNT MENTIONED AT 2 (III) TO BE DEPOSITED WITH EXCISE & TAXATION DEPARTMENT :-
 - For amount due towards GST on cost of trees Rs.31621/-, a separate cheque/DD or may be deposited in this office in Favour of Division Forest Officer, Forest Division, Suket payable at Sundernagar.

_Sd-

Divisional Forest Officer Suket Forest Division. Sundernagar.

Endst. No: 5641-42 Copy is forwarded to:-

Dated Sundernagar, the 22/08/19

C.F. Mandi for information.

1. R.O. Kangoo for information and further necessary action. He is directed to contact the user agency to get the payment released before construction of above scheme. He is directed not to allow any construction of the above road till final approval. Any violation by the User Agency under FCA, 1980 be immediately reported to this office.

> Divisional Forest Officer. Suket Forest Division, Sundernagar, H.P.

Schedule of Plantation Programme as per approved cost model for 5 Ha. Block plantation with 500 tall plants per Ha.

Detail of breakup of requirement of funds for CA plantation (Block Plantation) for the diversion of 0.6885 ha of forest land for the c/o ITI Dehar is as under:-

Sr. No.	Pariculars of works	Approved rate 2500 plants /5ha.	Cost per plant	plants in Nos.	Total amount for 230 plants
A	Survey,Demarcation & fencing	189500	75.8	230	17434
В	Planting	665000	266	230	61180
С	Maintanance			1	A STATE OF THE STA
3	1st Year	49300	19.72	230	4536
N T	2nd Year	25400	10.16	230	2337
	3 rd Year	25400	10.16	230	2337
	4th Year	13200	5.28	230	1214
	5rd Year	13200	5.28	230	1214
	6th Year	11400	4.56	230	1049
	7 rd Year	11400	4.56	230	1049
	Total- C				92350
	Contingency @ 5%				4617
					96967
	Departmental charges @ 17.5%				16969

2. Technical details

Technical details of Block plantation Scheme are as follows:

- a) General Details: The area shall be closed to improve the vegetation cover in locality
- b) Pits of size 90X90X90 cm size
- c) Species: Broad leave
- d) Plantation Method: Pit planting method.
- e) Soil and Moisture Conservation Works : Small scale engg.
- f) Protection: RCCFencing, Watch man, People's Participation etc.)
- g) Proposed Monitoring, Mechanism: As per guidelines
- h) Any other information. : No.

Divisional Forest fricer Suket Forest Division Sunder Nagar (HP)